EARAROBREBRT —5 XN—ZXBISH—F

2021£108108 (H) 5E#RiE2H

10R pESH

17> YSRIRLES

BRI e

[#&%£] 1 7%& 10,600,000 0§  23&:4,200,000 §  33&:2,700,000 F  43&:1,600,000F  53&:1,060,000 [

B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
<)o~ s BHELD :00. - . . ZRESL ERH)
N > RIS A= B3 SHED 2(@)2 3-3 33.8| 95.2 | 4 (4_720) q:mf
RiboPO—ILR B:ELTIFA A 8L
== == 4 4 | FIRER 2:00.4 5-3 3411929 | 1 448 | BWER @)
7 H 9| XAXRILTRAFTU 3 57.0 ) 6 | B BS5TLYRISTS5T47
RIIAYVITSvya BIIAVRRAYT Fe e
< o~ = EFEER : - EfR GEH
s 4| ALYLRYF 42 303 B 2.?2(;.7 4-3 34.4] 8.6 | 2 (4_622) ;%@E( )
RIET7RA7 5V hotfU—R L= N
— — 4 4 | ENBEE 2:00.9 2-2 347|838 | 5 436 | REER (5H)
417 7| 7AF=F 55.0 0! -4) ") TSIy RIST - 5T4T
R:AIU—rvke—0— B:RARXTITA—R vy RI7—L4
53 = 4 5 | SHEE 2:00.9 1-1 34.9| 83| 7 502 | RB/IEK &R
50111 |¥YARSIL 57.0 (ze) ) | B PYF-L—yvT
RIN—EVYIr— §:7rTO09—-R J=YUT7—L
» ~, FROABA :01. H . . BEE (ER)
6o 6| AXNFV7 [B] 4B s A S e I f‘r’zz) AGHE
RiFRF B:UFPUHRUZR RS IS EIN
~ =_ 4t 3 | BEAA 2:01.1 5-6 34.4] 8.3 9 406 | EFI— (EH)
715|5 | F1VARS 53.0 (/2 18 | ) HSTLYRIST 5747
R:Od=ILRYwT B:RARITLI 4L KRR ITIW—RI—-XT7—L
W W W 5 | A&t 2:01.1 8-8 3420 8.2 | 6 | 456 |FEED EH)
MR EZAC T ALY # 57.0 @) © et
RIFVIAANRN B AIOTUTY VA9 45T 7—L
¢ . P EHE_ :02. - . . AlER— (FEXR)
917/ 8| FoIL—O—2 [B] €3 o 2(092)6 8-8 35.5] 65.3 | 8 (4_962) o i
R:O0—RAFO7 S:IIILFSAb “RBTF—L
S~ N L |yit— - - - - - GEEE (FR)
Y 3| 75VITELY K 45 (51 (5:42) BRI
RYPYIF—THAF B:IVYRIa—IAL e
[ BN
Eh' 46.5-34.2
NOVF AL | 12.8-11.2-11.9-12.3-12.7-12.8-12.3-11.3-10.9-12.0
@ I1—JF—BEBIEfI
13—7F—
20—7F—
30—7— 1,7,2,4(5,9)6(8,10) 3
43—F— 1,7-(2,4,9)-(5,6) (8,10) 3
o ILRE
B 2 810M JA R 2-9 370 AR 2-8 960M 3EE 2-4-9 9504
B B 2 1504 2-4 400/ /B E 2-9 1,320 3EE 2-9-4 10,370
9 120H 4-9 1904 o= 2-9 3,490M
4 1309

ABIC OV TRUTEREERRODDZE. THRIIZEL.



